Principle of Economics: Homework 5, Unit 21 - Unit 31

Multiple Choice Questions

Choose the most appropriate answer for each question.

L /N — AR HER S - IEE BN — AR R E R - M N B R T —
fEA R AN NEE S R TR 3 BRALREE R AR - R R
flmL REMETS 5 FNRAEHE o NIIREER S L2k T BRY 3 BIRRACHE - IRI%E
e E2 > FER N ZI IR EEIH ] e 2/ NI BT B R (6) STRUHMRE (u(x)) ?

(A) 6 =0.5, u(z) =22

(B) 6 =0.7, u(z) =2z

(C) § =0.3, u(z) = 2% — 2x
(D) § =0.8, u(z) = —2 + 5z

2. BB EREHFESE 1952-2022 WEE GDP > Al#BHER L 4o
GDP [ERL > FERIRAT AR B AR Rl 2

(A) Real interest rate

(B) Nominal GDP per capita
(C) GDP deflator

(

Purchasing Power Parity

)
)
C)
D)
3. BERAMFERELH o Bol B 5 # M MIEREHEE > & 100 i HE
1700 7T ° FHMESE 5% HEIES SSR R H (E{E 100 JT) ~ 15% HKRIES
SR FH (EME 50 7T) ~ 30% PERER R R (EE 10 T) ~ 50% HERES
N Fh (E{E 5 7) - HEEBEEZE AT - 5 fF AT eEZ T 5 ik
A
(A) Risk-averse
(B) Risk-loving
(C) Risk-loving or Risk-neutral

(D) Risk-averse or Risk-neutral

4. THNEMEMEGHERR 25 TSR ?
(A) BB ER RS B2 -
(B) 1% 12 REVEEERIRA - KHEH o
(C) FHEAEBEREERM P RETK o
(D) —EHARBEKEHE LR -
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5. BB KRS EELE - FERIMAEE & 0ET AT Y RLE B ET Sk 2
I. A8 GDP
1. &M GNP
II1. 5 GNP
IV. [ NNP

(A) 1,111
(B) 11, IV
(C) 1, 11, 111
(D) I, III, IV

6. IRF RIS HBL  ERHBLERIE > 2 T HATHE > DUERERL 0 E
BT HR > AR KEFHIPIRAR o IR LR AR B SE - R R
SEHFE T IIA B B THIES > MRS ILBROR o 35 S BREAT 2y > RAIfAI3E 1ERE 2

(A) IRFHEMA TR SBERE > BR DEERR

(B) IR FHEMD T HEIEMERFE - BN TER -

(C) RFHMA T DMERE > BRI MUCEARE) -

(D) IRFHEMA THPSWERE > BR HEEHETR -
7. NANBA R [ B R RGAE - A3 1R 2

(A) FERMRKR 0 BHRERE R ET SR > @A R R —E
AFH R AT IZ SN E L 58 o

(B) TEREREMREF I BB U (21, 25) = u(zy) + dulzy) > & BUNBEATN L o

(C) RVEERIER 2 FBUINEERNNFHHRE - RBENERF -

(D) JEBEZEhra > HEBRK S —AE -

8. THIMREEREAERE Y = Ax F(K,H,N) R - {7#§Ha3 2

(A) ERERM - BISECKHELU TS BE-- ) AR A RS o

(B) M- Bya o BIREMEME 5 TiE) - 208 K g1 5 T e
(C) M RIEREA 2500 NEHEKIEERMKYS ) > M5 EHGETA N o

(D) F

D) B ATE 2024 10 10 B A > RF H €1 10 & -
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